
27.01.2021 – ANSWERS To understand what a tenth is Challenge Sheet 

Use this sheet WHEN you’ve completed the main worksheet and want a challenge. Remember to use your blue book if you 

have it to show your workings.The questions were resourced from White Rose Maths and Twinkl Diving into Mastery. 

1.  

 

 

 

 

 

 

2.  

 

 

 

 

 

 

3.   

 

 

 

 

 

 

 

 

 

4.  

 

 

 

 

 

 

 

 

This statement is true. 

5

10
 + 

2

10
 = 

7

10
 

5

10
 - 

2

10
 = 

3

10
 

The odd one out is the sweets. 

This is because the other two 

representations show 
4

10
 

The first person shows 
7

10
 

The second person shows 
5

10
 because half of 

10 is 5. 

The third person shows 
3

10
 because that is the 

smallest. 

Possible combination could be 
3

10
 + 

7

10
 

Gary could have eaten: 

 Salt & Vinegar, Cheese and Onion 

and Prawn Cocktail 

 Cheese and Onion and Ready Salted 


